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- You have four choices for each objective type questionas A, B3, Cand D, The choice, which you think, is correct; fill that cirele n
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2 - K . )/l = o /7 15 asurd u—i__(fn(iu B N
,c‘,t'xgu%/uj;/_""q,?.».._f .6
3 2 0 1 . _ i B '
B . ) A lincar Wp_ql)‘{nomml 15 of dckgrcc. L L
v -yt cay eyt (e y)(at - xyp 4 Y (x = )xt oy vyl (x o~ e yh) 1“1\(:[()]'5'/.'.\1‘[01\ of xli == _}’3 i3 -r.'_.df,-:d‘l':t b }" A 7
I Spgrs Ipgrs ?-L)qr Aqr HCE orﬁpqr, | s n.cL:_(’b}bisKGqu, FSqrs 8
I T5E N . — . —— : o o
~e 3l o c_’id_,/r s k] .9
, ! : g sl ASUE b (A
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_ et X2 -9 =01.10
{3} {9} {3} {9} _ 5 j
Solution Setof x* — 9 = 0 is R
sl i /_U_L{_.L‘rfc_, 4‘;1_1/_/_’. e ,-;.d/(ﬁw 2ol |0
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-1 =7 7
W-LB_.l B___1 A_j B_lA_l (AB) = u’:ur‘t A2
In matrices (AB)™T =7
g, ray JSLis ot JLtia Fil A JAY = —ATT |
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Part. ¥ d}! 2
Answer bricfly any Six parts from the followings. 6x2=12 .L{//,f.:glﬁf‘?ﬁfmfc—dfc,gﬁd;‘@u _2/‘_)!:‘
P(x) = x* + 3x* ~ 5x + 9 then find ;,EJP(x)éfx =17nP(x) =x*+3x2-5x+9/1
(x) for x =1 ..‘_:."___.‘,'/r)h‘
A {--.I,- "‘\‘" 5 sz 2 242 Ao st -
~duce th‘c’:"{;’f%’(:fm;ﬁgxmcsgon to lowest terms 12x?:y ?jxfy -g‘;:(J_,y’ufJ”u[/-/‘;:{& ui’téf_a:,) Gi)
=move the 1'ed1:ca.]‘si n%rom the denominator: £ ey e Y e 54 ; Gii )
5 g H ' 5z OF I J,WC—C/ m
nd HCF by Factorization: axby, a’bc BROF a’bc -ér)”r”ut;z;./jidj Gv)
nd L.C.M by Factorization: :.é:(r’l’\)d;“-j(’}bjljf:’g-/j: £
21a*x%y,35a?x*y, 28a’xy* 21la*x%y , 35a2xty , 2Badayt

nd the Squarce root of the following: 16x* - 24xy + 9y* 16x* + 24xy + 9y2:gffr:‘-"d/JlJ,lg Kt  (vi)
/ritc down the anples marked with letiers: :fj_'_fp"’u’,‘qgfu;_‘yl)a}/:w:— u‘::yJ:R (viv)

. . % & « 4‘7 . -
rite down the angles marked with letters 1"&5(}”':.«5’ Ju:j:i)n,vﬁtbc_.u: o7 (viii)

2 S > —'é/f_,lfb’dly/f;fjéjj@” (x)

ook at given figure and answer the given question: & P/n % W P e 7 4 f
rite down the Pair of alternative interior angles / / o Z»T/_/".:_}f.é Uysli s dssur”

Answer briefly any Six parts from the followings. 6x2=12 wL)_‘/{/,caL’ﬂ/?LIZi%’LJ[LLﬂJ:.;@JJ ..3/:/.dfr
rize 98 — 7x — x* ’E:.f()'/": (i) Factorize ~ 3a{x +y) —7b(x + y) &‘gdf @

' Factorize 8x% —y* E‘ird/: (iii)
ate the polynomial for the value indicated _zi—/r}ﬂﬁ;,EJ&"//}(iLQ&j@’) (iv)
) =x* —5x% - 13x* =30 ; P(-1) =7 P(x) = x* — 5x% — 13x2 — 30 ; P(=1) =
c 3(2x+5)=25+x ZAY Y Selie il:sl =1 =F W

Solve |x 4+ 1] = c: (vii)

he third side of cach right triangle with legs ‘a’ and b’ 75t /JILUJ'I»éJFa b ,ﬁ"f(:'-"'b f/‘b...b,:!/l,./b (viii)
ypotenusc ‘e a=?, b=5, ¢c=61 a=? , b=5 ., c=6l -
he volume ofa cube whose side is 4 cm ..u:/r}l"’(;-‘b/dl’;fﬁl cm(utf)d'}ﬁﬁ .T,-(_,_fl Gx)
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Answer bricfly any Six parts from the followings.
“—8x -3 =0

6%2=12

ve by using faclorization. 3x

IAB A= [g é , B = [__22 jﬂ

- : : . =@ B
iy the singular and non singular Matrix l bJ
a
¥

M = [ 1] Find M1

4 3
v triangle ADRC inwhich N'l?j? = 52 cin,
B = 4.1cm and mAC = 4 Firr
v a cirele with center O and radius 4.5 ¢m
e (1 ,0)in the co~ordinate plane
the distance between points (1,3 ),(2 ,=1)
a —-b}

c d

Part 1r

Note: Attempt any Three Questions.
b+vb2-q2
b-vb2-g?

H.C.F by division method.
X+l xt ¥+ 1
rive x1% — y12

Trunspose [

8x3=24

nalize

vV, X, Y, Z such that

B R SR PN

A= =3
X _ x_ 2
6

4

[SS T QU

by using quadratic Formula
3xt+x—-2=0

f .
ructarectangle with sides 10 em and 6 cm.

ca ol cquilateral triangle is 43 cm? Find the lenglh
le,

that the points AC4,-2), B3(-2 2, 4) and C(5,5) are vertices
soceles triangle.

aniers rule to solve the simultancous cquattons

¥ ¢2y =13 , o By e 17
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Note:= You have four choices [ar cach objective type question as A, B, Cand . The choice, which you think, is correct: fill that circle in

front ol that guestion munber, Use iacker or pento il the cireles, Cutting or filling two ormere civeles will result in zero mak i thi
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(D) (C) (B) (A) QUESTIONS Q-1 ]
- p) 2 nrt — U‘Jf,;/l‘;/a//lJJ.ﬂ; )
2mnr Ter 7T 7 o )
b 2 Arcaofa semi-circle is
4 ‘ wrih T2k _q_rn!j: b/J,u-’dJ;deuf..,{l S
—mwr? wreh - . . , .
3 2 ~3 Volume ofa right circular cylinder is
LW b P iy 2 V{_.tﬁhll:-‘c_‘;.}f%}'}‘ﬁufd)t"-.{/l 3
Fourpoints | Two points ! e A u(l;ill?tuc {n the plane with every ordered pair is associated
p
2(a? + b?) 4ab r—az + b? —4ab (a+b)2+(a=b)2=7 4
1 B
i -c;.?./)l(\/a = a /2 {ﬂul,w‘ N
Yy 2 1 0 i .
\/ZL- = a./2,isasurd of order
; 5 ) s i : “d’ 4
@+ 1D+1) | (@t 1)@ +1) | (a—1) @ +1) C-i@+ i +1y | Factorization of Xf’»ﬂ,— 1is - Jsoat—11 6
. - ; " G i R : 4
Ao Fisen /"r.nxj;.,il.u.; J’L_Jbu"l,!j r‘wl)lc /VQ‘R\:::?J = _._//JL)/L?KU)L?U’[”)) T
1
ILCF+ L.CM | H.CEFXL.CM L.CM H.CF Product o1m@~’;‘§§,x\wf£:s =
_ ] ARt ] B
! F5pars Ipars 3pgr 3qr H.C.IF of Gvfpgug:tﬁ's is ~.:_r}’}l)l;lv/() par, 1Sqrs | .8
e m— e s 51 i I R St — SIS | ‘.‘ } O ST ) oy
e fo -a_l,'lgl”fﬁ{bf:,«fuh uni/; 9
0 fx] =g X Yoy ‘
i L I'or cach n‘l),m‘hq r X the absolute value of X is denoted by
I », LA o ET i
X £ BN e FExt =11 10
GO @ |y |y | Sy ‘
o P
Aolufipol x© = 1 jg
il e e i o -1 __- =f T |
AL =t B-1a-1 51 AT Al i Arices (ABY™" =2 (AB)~1 =7 .CJ.;(L}J."L: e
- / sl Ay L . - ok N E
5§ Sy LS e SLide nry e bW ATrAL = —A ST ] 15
Squnre Tranapasc Skew Symunatric | IPAY 2w A then A isculled
matrix Symmetric
1807 360° 240° 90° A straight angle contains _‘Ltﬂ,_:ulfff/:;lj A3
" & i
Sl swbliagteds L] 14
4 3 2 1 ISP St
The number ofaltitudes in a triangle is.
S g o Fles L8t b e gL Lk | s
Side Altitude Median Anglec A linc joining one vertex of a triangle and perpendicular to
bisector biscctor its opposite side is called
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Mnswer bric{ly uny Six parts from the followings.
TPy = }/ +——“"‘}/ + 1, then find P(2)
nolve (2 370

Remove the radical sign from the denominator:

2 7
V2 V3
1
Ifx =2+ V3, then ﬁnd;
Find H.C.F by factorization Gpgr ., 15qis

Find L.C.M by factorization
2 Lla™ % . 35a4x"y, 28a*xyp?

Two angles are supplementary and The greater exceeds the
smaller by 30°. How many degrees are therc in cach angle?
The sides ofa quadrilatcral arc 2cm, 4cin, 6em and 7cm. The
longest side of a similar quadrilateral 1s 21 cm. Find the

other sidcs.

Wrtic down the angles marked with letters.
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6x2=12

‘(,,;w'ou'”&zd/-z
07 - '.
L//juu;/-‘éuuc,df._,kﬂmzw 2 dir
e P(2)In P() = y* + ¥_yre1h O
(2x + 3y)3 gy G
el =/ (iii )
2 7
V2 V3
_".'_ji:(;h’h;f(f i iex=2+V34 @

6par, 15qrs _’df:(r:l”'/iil)bdj.ﬂzé )

_ér#juw;,wjggu, (vi)
21atxy, 35a*xty 28u*xy”

L e 15307 il ,L,ummdf‘*’un; (viD)
e 150§ ol

»n}f{ffer%&fm/’f&fzungCumL;:Jf;:.,Cf (viii)
JWJ&”L7awdsz§wA£wa%&f7
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-r—_';;-r; v Jumm//b u i Gind

J/JVLifﬁ’.Ll]l;;,&fc,L;J;cj; AU

Answer briefly any Six parts from the followings. 6x2=12
aclorize 1 - 343x o 1,5/ Gi) Iactorize 2 4-9x -+ 20 d o (i)
Solve 3(2x 4+ 5) = 258 & *L):/JCW) Factorize g — 4a — 2a* + a’ .~_~Lj/" Gii
Solve \/—3_76—-‘1—‘4 = 7 4,{/1)” (vi) Solve 2;:; = _u‘fd" (v

f“ind the Third side of cach right Triangle with legs “a’and
‘b’ and hypotenuse ‘“ a=3,b=4 c=7"

Find the volume ofa cube whose a side 154 cn.

Splve W2x = 1= 5
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a=3,b=4 c="? s
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nswer bricfly any Six parts from the followings. 6x2=12 -L,[//_./’a!_.IK/‘:"'LFZI@aéfc.;ﬂjﬁw JI/:?
y lactorization method x? —4x —12 =0 X% — 4y — 12 = 0 _zﬁf-:(_)"’d-;_:;_g,)
y factorization method. 3x% — 8x -+ 3 = 0 3x% —Bx + 3 =0 & J’Lj/ sk
. 1 %
cadditive inverse o |7 = _;;_"-’:}’;L’ ‘Lj_#;‘u"-'
; 3 4 . 4
: - 2711 -3 217711 & - s
e matrix product ( ] [ ) } ]' ) - J [ ' N l_ Ar L"’._/ “
‘ 4 —=11l-1 3 L g =) Ley 3% Ve A
. —Z& 5 =
> determinant of 1 4 ] L// v
4 ZJ : | ; 42 3 7).
, B=| | then AB = AB=? jna = | B = [ |/
o o -3 @ o ol 2 4
hequilateral trianple ABC inwhich TATLY, /\I‘( T RIS 1N
mAB = mBC = mAC = 5cm mAB = mBC = mAC = S5cm
semi=Cirele with diameter 4em and ceplie ol O églka//buiﬂiUJ;/"’.:.’._(}W/L{J&/M‘O')(/
: distance between the points (7,-2) ,(-2,3) (7,-2) (=23 _u_:/(’)j"” Aol 5 LG
Note: Attempt any Three Questions. Bx3=24 sl /’///'UL!_? Ul o .::..df
iy 4 X B e /
lpl ) x-y 'rl_i,y, iy )‘ }}! - ._..f# "
JL.CM ehodor Pty

X?* mx =2 2t — 6,582 -3y 2

orize a® -+ b% + 2ab + 2bc + 2ca

- "

A A

(A+B)t =AY+ B¢
e V2x—1 —x—4 =2
‘¢ by Completing the square Mcthod
% = L0 ~3 =
w a triangle ABC inwhich mBC = 5.4 ¢m,

J then prove that

\b = CH),'ITLZ—E = 3.9 cm I'ind the Incenter.

| the volumece of a cone with altitude 9 cm , radius of
y igfem.,

r . ¥
Cramer's Rule to solve the Simultancous equation:
|

2x+y=1, 5x+3y=2

w that the points A(2,4), B(6,2) and C(4,3) are collinear,

At = 2, 5% - x = G, x% — 3x - 2
alsa b + 2ab + 2bc + 2ca _’:f 7

fu/uw/i—[i g]az{f’l 64},& <

(A+BY = At B
Vix—1 ~-x—4 =2 y/Sf (
SIS e P LG ST
x*—=10x—3=0
,mBC = 5.4¢ LSS RABCEL  (
15 pde. mAC = 3.9¢, mAB = 4.3/
S
e (761060 ) {%wu ST 7%y N

uifj‘:(jp,)'/&l:tf' I PT s /’[_/’/ (
Zx+y=1 , bx+3y=2
b 1C(4,3) mB(6,2) A St (
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